@) EXPONENTIALS AND LOGARITHMS

1

Answers - Worksheet C

a

1.78 b 0.778 ¢ 240 d —0.398
x=Igl4=1.15 b 10°=4 ¢ 3x=Ig49
x=1g4=0.60 x=11g49=0.56
x—4=1g23 e 2x+1=1g130 f (10°"=10"=5
x=4+1g23=5.36 x=1(g130-1)=056 2x=1g5
x=1lg5=035
xlg3=1g12 b xlg2=1g0.7 c —ylg8=Ig3 d 1xlg4=1g03
¥ = lg12 Y= 1g0.7 y:_ﬁ Y= 21g0.3
g3 g2 1g8 lg4
x=2.26 x=-0.515 y=-0.528 x=-1.74
(t+3)1g5=1g24 f (4+x)lg3=Igl6 g (2x+4)lg7=1gl12 h 2*"'=124
zlgﬁ_ :lgﬁ— = 1 lgi— =+ =
t 65 3 X 23 4 X 2(lg7 4) Bx+1)lg2=1g124
t=-1.03 x=-148 x=-136 x=Llel2d gy
g2
x=0.877

(2-3x)lgd=1g32.7

x=52-
3( g4 )

x=-0.172

+2)lg7=@+1)l1g9
y(g9-1g7)=21g7-1g9
_ 2lg7-1g9 —6.74
1g9—-1g7

(3x+3)Ilgd=(1-2x)1g5
x($lgd+21g5)=1g5-31g4
lg5-31g4

x=1822318% 652
slg4+21gs

72x+4 — 113){—4

Qx+4)lg7=0CBx—4)1g 11

x@Blgll-21g7)=41g7+4l1g 11

_ 4lg7+41gll
3lgll-21g7

=5.26

(2" +3)(2°-2)=0

b 3 -1)3-4)=0

j xlgs5=(x-1)1g6
x(lg6—-1g5)=1Ig6

Ig6
lg6—-1g5

=9.83

1 (5-x)lgd=2x—-1)lg 1l
xQlg 1l +1g4)=51lgd+1g 11
_ Slg4+Igll —151
21gll+1g4

n Gy-2)lg2=Q2y+5)lg3
y(3lg2-21g3)=51g3+21g2

_ Slg3+2Ig2
3lg2-21g3

=584

p 3x+l:24+x
x+1Dlg3=4A+x)1g2
x(g3-l1g2)=41g2-1g3

_ 4lg2-1Ig3 —4.13
lg3—-1g2

¢ 55 -8(59+12=0

2* =3 [no sols], 2 =14 (5= 2)(5"=6)=0
x=1 x=0,128% —0 126 5=2.6
g3
=182 180 _043,1.11
g5 g5 T
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2(4™) - 7(4)+3=0
Q4 - 14 -3)=0

e 22 +7(2)-15=0
22 -3)(2"+5)=0

f 33™)-17(3)+10=0
(3(3") -2)(3*-5)=0

4'=13 2¥=-5 [no sols], 3 =25
3 2
x=-1 81979 =1 _gss =18 185 437 146
lg Ig2 g3 1g3
g 57+505)-24=0 h 33™)-1839)+15=0 i 3(4*)-16(4"+5=0
(5'+8)(5'=3)=0 33 - 13 -5)=0 B@) - 1)(4 -5)=0
5'=-8 [no sols], 3 3=1,5 4'=15
1
=18 — 068 x=0, 8 -0, 146 x=18 185 _ 579 116
Ig5 1g3 g4’ Ig4
a xlg2>Ig5 b xlg6<Ig10000 ¢ 2xlg4<lIg2l d (x+1)1g3=1g50
x>lg—5 xS—lglOOOO < le21 leg—SO—l
g2 Ig6 21g4 g3
x>2.32 (3sf) x <5.14 (3sf) x < 1.10 (3sf) x = 2.56 (3sf)
e (3x—2)lg5<1g18 f x1g0.5>1g0.01 g x1g03<1g0.002 h (x-3)lg0.4<1g0.005
L < %(lgﬁ 12) L < lg001 o> 120002 o> 180005 | 4
g5 1g0.5 1g0.3 1g0.4
x < 1.27 (3sf) x < 6.64 (3sf) x>5.16 (3s) x > 8.78 (3sf)
nlg 5> 1g 800000
;> 12800000
g5
n>8.45, . smallestn=9
a VA b YA
y=5" y=2 y=(E) Jy=3
0, 1) 0, 1)
A - -
0] X (0] X
c VA d Ay
jy=4 0,8)/
/”y=4x_1 y=2x+3 y:2X
0,1
©- W ~ _fo.n
X 0] X
a v A 9 x=0=y=-4
y=0 = 2°=5
— lg5
g2
0,3) 2 2 g5 \2
y=2 AB =4+ (:£2 ) =21.391
_ g
19) x AB =463
b 3,29 = 29=2+d
a =27
a=3
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